
REVISIONS

REV. ECN DESCRIPTION BY DATE

A 8000007957 INITIAL RELEASE MSM 04/29/15

B 8000009336 ADD STANDOFF DIMS AND HOLE SPACING MSM 07/23/15

C 8000016792 UDPATE ITEMS 2 AND 3 MSM 10/20/16

D 8000023635 UPDATED NOTES DRR 06/01/17

ITEM PART NO. DESCRIPTION QTY. WEIGHT NOTE NO.
1 BXGB2 BOX KRAFT:24.50 X 4.5 X 2.25 (EA) 1 0.21 LBS
2 MTC371304 UNIVERSAL ANTENNA LWR CON MNT BRKT 3 1.52 LBS
3 MTC371306 ANTENNA HANGING BRACKET 3 0.84 LBS
4 MTC371305 UNIVERSAL ANTENNA UPPER CONCEALMENT MNT BRKT 3 1.07 LBS
5 GD03950 3/8" X 9-1/2" GALV THREADED ROD 6 0.29 LBS
6 GWL-03 3/8" GALV LOCK WASHER 12 0.01 LBS 1
7 GN-03 3/8" GALV HEX NUT 12 0.02 LBS 1
8 DOCUMENT RECORD INSERT DRAWING MTC3713 INOT BOX 1 -

1.0 CUSTOMER ASSEMBLY SHEET 2‐3.
2.0 PLACE ALL LOOSE HARDWARE INTO POLYBAGS AS NEEDED.
3.0 ANTENNA PIM MAY BE AFFECTED WITH THE
      USE OF ALTERNATE ANTENNA BRACKETS. D

HA
ND

BO
OK

,T
EC

HN
IC

AL
 D

RA
W

IN
GS

,

C

111111111222222222333333333444444444

111111111222222222333333333444444444

AAAAAAAAA

BBBBBBBBB

CCCCCCCCC

DDDDDDDDD DDDDDDDDD

CCCCCCCCC

AAAAAAAAA

BBBBBBBBB

NOTES:

lbs/in³
lbs

in³
in²

±

12.56

1 OF 3WIDTH
LENGTH
HEIGHT

VOLUME RE
AD
RV
RW

COMMSCOPE, INC. OF NORTH CAROLINA

 
DENSITY

MASS

MTC3713

MTC3713

TP 04/29/15

0.16
VO

LU
ME

S 
1 &

 2,
 T

HI
RD

 E
DI

TI
ON

 (2
00

2)

CE

WORK AREA
ECN

DRAWING SHEETMODEL

SCALE

SIZE

ANGLES
X ±
.X ±

.XX ±

MATERIAL

C

2 PLACE
1 PLACE
0 PLACE

REVISION

TOLERANCES

STATUSVERSION REVISIONSTATUSVERSION

DOCUMENT NO.

1:2

FINISH

SURFACE AREA 1485.12

TITLENAME

D

DATE

SAP MATERIAL MASTER

2015 CommScope, Inc. Confidential

GALV A123 A36

UNIVERSAL CONCEALMENT ANTENNA MOUNT

.25

.12
.06

8000009336

MSM 04/29/15
UN

LE
SS

 O
TH

ER
W

IS
E 

SP
EC

IFI
ED

DI
ME

NS
IO

NS
 A

RE
 IN

 M
ILL

IM
ET

ER
S

IN
TE

RP
RE

T 
PE

R 
IS

O 
ST

AN
DA

RD
S

2



330.4mm
4.5in

13.0in
114.3mm

1.80in
45.8mm

STAND-OFF

D

111111111222222222333333333444444444

111111111222222222333333333444444444

AAAAAAAAA

BBBBBBBBB

CCCCCCCCC

DDDDDDDDD DDDDDDDDD

CCCCCCCCC

AAAAAAAAA

BBBBBBBBB

NOTES:

2 OF 3

COMMSCOPE, INC. OF NORTH CAROLINA

DRAWING
SHEET

SCALESIZE

C
REVISIONSTATUSVERSION

DOCUMENT NO.

1:1 MTC3713

TITLE

2015 CommScope, Inc. ConfidentialC

UNIVERSAL CONCEALMENT ANTENNA MOUNT

ITEM PART NO. DESCRIPTION QTY. WEIGHT NOTE NO.
1 MTC371305 UNIVERSAL ANTENNA UPPER CONCEALMENT MNT BRKT 3 1.07 LBS
2 MTC371304 UNIVERSAL ANTENNA LWR CON MNT BRKT 3 1.52 LBS  
3 MTC371306 ANTENNA HANGING BRACKET 3 0.84 LBS  
4 GD03950 3/8" X 9-1/2" GALV THREADED ROD 6 0.29 LBS 3
5 GWL-03 3/8" GALV LOCK WASHER 12 0.01 LBS
6 GN-03 3/8" GALV HEX NUT 12 0.02 LBS

1.0 FITS CONCEALMENT SHAFTS 4.5"OD - 13.0"OD.
2.0 FITS ANTENNAS COMMSCOPE SBNH, SBNHH.
3.0 MAY HAVE TO CUT THREADED ROD DEPENDING ON SHAFT SIZE.

B

B

1
4 5

3

2

5.16in 
131.1mm

 

 
201.6mm

7.94in 

 
237.4mm

.38in  TYP9.5mm

9.35in 

 
162.6mm

6.40in 

 2.68in
68.0mm

 



TITLE

2015 CommScope, Inc. Confidential

UNIVERSAL CONCEALMENT ANTENNA MOUNT

MTC3713

111111111222222222333333333444444444

111111111222222222333333333444444444

AAAAAAAAA

BBBBBBBBB

CCCCCCCCC

DDDDDDDDD DDDDDDDDD

CCCCCCCCC

AAAAAAAAA

BBBBBBBBB

NOTES:

3 OF 3

COMMSCOPE, INC. OF NORTH CAROLINA

DRAWING
SHEET

SCALESIZE

C
REVISIONSTATUS

1:8
VERSION

DOCUMENT NO.

C D

1.0 MOUNT TOP BRACKET THEN HANG ANTENNA.
2.0 CUSTOMER WILL USE EXISTING HARDWARE FROM ANTENNA FOR
      MOUNTING ANTENNA TO BRACKETS.
3.0 ANTENNA PIM MAY BE AFFECTED WITH THE
      USE OF ALTERNATE ANTENNA BRACKETS.

SEE NOTE 1

SEE NOTE 2

DETAIL A 
SCALE 1 : 4


